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Question Number : 1 Question Id : 1874635121 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A. B and C are heterotrophic plants. *A’ has no sex organs but produces sexual spores
exogenously, ‘B’ produces sexual spores endogenously and "C" has no sexual stage but
reproduces asexually, Based on these characters. identify A, B and C respectively.
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Aspergillus. Agaricus. Alternaria
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Question Number : 2 Question Id : 1874635122 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct pair of taxa showing following sets of characters in sequence.
1)  Trachaeophytic heterosporous plants with siphonogamous cogamy

u) Trachasophytic heterosporous plants with archegonia

1) Archegoniates with zooidogamous oogamy

A)  Marchantia and selaginella
B) Sahinia and Pinus

C) Polvtriclumm and Eucahptus
D) Cveas and Encalyprus
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Single Line Question Option : No Option Orientation : Vertical
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Match the following,
List-1
Scientist

A) Stephen Hales
B) J1.B. Sumner

C) Camerarus
D) Haeckel
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Question Number : 4 Question Id : 1874635124 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct statement.
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Options :
Red colour of the red sea is due to dinoflagellates.
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Heterocysts of cyanobacteria fix atmospheric nitrogen.
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Mycoplasmas are pleomorphic due to the presence of cell wall.
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Presence of mycolic acid in the cell wall of diatoms 1s the reason for the left over
cell deposits in large amounts in thew habitats.
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Match the following.

List-I List-IT List-IIT

A)  Acropetal amangement 1) Dichasial cyme and I) Mangifera

monochasial cyme

B) Margin of thalamus 1) Infenorovary II) Cypsella
enclosed the ovary

C) Single ovuleattachedto 1) Simple raceme IIT) False whorl
the base of ovary

D) Lammaceae ) Persistant pappus like calyx  IV) Gnava

ol TEI 2E5CTIW

sde-1 =oe-Il ardg-III
A)  erddd @508 1) Gerdod dHdo Boduia ) Srozdo
JETHOR IS0
B) womdcierq) Fom 1) QD) @wod¥aso I [
BIVOTT YD VD0
C) @oadoss a8 s ii) PSrSy VBB ) ©Hs Secddn
WS &) uE WOLIW
D) o3& iv) Qs o8 SELGEn ool IV) i
588 HieSd

The correct answer is
%Q}ﬁi NPT IIE00

Options :

A B C D

I IV wl LI
A B C D

I wIV W Il o1

1

A B C D

IV I Il LI

] 1 E
collegedunia

—



A B C D

g I L0 6T IV

Question Number : 6 Question Id : 1874635126 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Read the following statements and identify the correct pairs of plants
(A) modified protective bract and edible pedicel

(B) food storing floral bud and leaf bases

(C) photosynthetic stem and petiole.
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Identify the correct ratio of haploid. diploid and tniploid conditions of cells and tissues

listed in the grven table.

Pollengrain Nucellus Sporogenous tissue
Endosperm Perisperm Eggcell

Synergid Zygote Scutellum
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Question Number : 8 Question Id : 1874635128 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A total of 168 pollengrains with 14 chromosomes in each pollen grain are released from a
mature microsporangium. Mention the correct ratio of pollen mother cells. generative

cells. vegetative cells and male gametes produced by the nucroporangium.
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Question Number : 9 Question Id : 1874635129 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Options :

I

Choose the comrect matching.

List-1

Dioecious plant with Archegoniophore
Monoecious plant with Oogonium
Homothallic plants

Dioecious plants with pistillate flowers
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Papava
Chara
Funz
Maize
Marchantia
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Question Number : 10 Question Id : 1874635130 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose correct pair from the given below related to the study of fertilization.

A) | Aquatic Large no. of gametes released mto Extemal Syngamy
algae the surrounding medium
B) | Moss plants | Large no. of gametes released mto air External Syngamy

C) | Seed plants Non motile male gamete reach the egg Intermnal Syngamy

D) | Pteridophytes | Motile male gamete reach the egg Internal Syngamy
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Single Line Question Option : No Option Orientation : Vertical
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Match the following.

List-1 List-I1 List-ITT
A) Radical leaves 1)  Anterior odd sepal I)  Protandrous
B) Exstipulate leaf 1)  Artificial system ) Persistant Calyx
of classification
C) Monocarpellary m)  Allim ) Geocarpy
unilocular gynoecium

D) Species plantarum i) Solid or hollow stem  IV) Linnaeus
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Question Number : 12 Question Id : 1874635132 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Study the following statements.

L Circular naked DNA is the genetic matenal.

I Membrane bound cell organelles are present,

. Cell membrane nfoldings called mesosomes present.

IV. Nuclear membrane absent,

Arrange the given organisms based on thewr above respective characters and give the ratio
A) Bacillus B) Nostoc C) Noctiluca D) Chlorella

E) Rhodospirillum F) Trchodesmmum G) Amoeba H) Euglena
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Question Number : 13 Question Id : 1874635133 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Assertion (A) : Syncytium is the result of karyokinesis not followed by cytokinesis.
Reason(R): In plant cell. middle lamella formation starts from centre and grows
outwards of the cell and leads to cell wall formation.
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(A) and (R) are true and (R) is the correct explanation of (A).
(A) H605 (R) o0 S060353 Seboso (R) st (A) S 50508 256.

(A) and (R) are true. but (R) 1s not the correct explanation of (A).
. (A) Oodxn (R) 00 90g3Q 3 (R). (A) 2os8 (A) $o S80S 2502 5.
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(A) 1s true (R) 1s false.
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(A) 1s false. (R) 1s true,
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Single Line Question Option : No Option Orientation : Vertical
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Identify the correct series of biomolecules which donot belong to the given category
*  Homopolymer

. Secondary metabolite

*  Neutral Ammoacid

. Aromatic aminoacid
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Inulin. Rubber. Valine. Tryptophan
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Protein. Scent, Tyrosine. Tryptophan
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Cellulose. Protein. Glutamic acid. Tyrosine
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Question Number : 15 Question Id : 1874635135 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Observe the following functions of the cell.

*  Synthesis of protein and enzymes

. Synthesis of lipids

. Synthesis of Glvcolipids

«  Enzymes optimally active i acidic pH.

Arrange the given cell organelles with their respective functions,

a) Golgi apparatus b) Rough endoplasmic reticulum
¢) Smooth endoplasmic reticulum d) Lysosome
e) Ribosome fy  Mitochonchia
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Question Number : 16 Question Id : 1874635136 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Assertion (A): Ions and organic matenial concentration is higher in cytoplasm than
vacnole.

Reason(R):  Tonoplast facilitates the transport of ions and other matenials against
concentration gradient into the vacuole.
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Options :
(A) and (R) are correct. (R) is the correct explanation to (A).
1 (A) ocse (R) e 30&0S5. Lbdiw (R)w&3d (A) o 508 JSd.

(A) and (R) are correct. (R) 1s not the correct explanation to (A).
, (A) Dodin (R) o S06082, 53 (R) 088 (A) & S0GuS D50 5.

(A) 1s true, (R) 1s false.
3 (A) 56801586 (R) S0g0858 5.

(A) 1s false. (R) is true.
, (A 80@0ie 5@ (R) Soguis.

Question Number : 17 Question Id : 1874635137 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arrange the following aspect of a double stranded DNA molecule with the
3'AGT CGT CGAAS sequence m ascending order

A)  Number of phosphodiester bond
B) Number of H; bonds
C) Number of total pyramidines

F'AGT CGT CGAAS 383 85050 §0nS ot e¥de DNAS' & (8o wored 8o
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Question Number : 18 Question Id : 1874635138 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The tissues from which cambium ring 1s origmated in dicot root and dicot stem.
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Options :
Cambrum berween xylem and phloem Pernicycle and medullary rays
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Tissues below phloembundlesand Medullary rays. cambium and phellogen
portion of pericycle tissue
FEE Sawre Poro od famow 1| GTyw, Jpay S0l Sobosy

200ci JHoTES'Y Fodgiio LS

Cambim. pericycle tissue : Cambium. phellogen

dgrug §rdP, S0UE Somroiw : Sy i, TR
3

Pericycle tissues : Cambmun. Medullary rays
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Question Number : 19 Question Id : 1874635139 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct series of tissues which show the followmng features.
*  Mamtaining pressure gradient in the sieve tubes.

«  Tissues absent mn monocots.

*  Matwre cells lacking nucleus.

«  Dead cells found in the frut pulp of sapota.
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Options :
Phloem fibres, Intercalary menistem. Albuminous cells, Collenchyma
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Phloem parenchyma. Phloem. Companian cells. Cork cells
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Compaman cells. Phloem parenchiyma. Sieve tubes. Sclereids
. S, JFUE SHndlemuo, ToR TTwd, S50

Companian cells. Sievetubes. Albuminous cells, Sclereids
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Question Number : 20 Question Id : 1874635140 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : A mature leafy tree produces as much oxygen in a season as 10 People
inhale i a year.

Reason (R):  Forests provide a vast bank for CO» and a huge amount of CO» is deposited
mn tumber.

AfSo (A): &8 D0S8)0 swod” 10 B0l Sgiien SHO8 fav;ﬁ'éﬁé SNORN S8R
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Options :
(A) and (R) are true and (R) 1s the correct explanation of (A).

(A) S80s® (R) en HBG0HD, H0ain (R) st (A) S 38388 JS8wm.

(A) and (R) are true but (R) 1s not the correct explanation of (A).
(A) So0ciw (R) e 30405, 50 (R) @lodd (A) S 50808 Jidm 578

| B ]

(A) 1s true. (R) 1s false.
(A) S0GBE6, (R) S0GLEE s=&.

(A) is false. (R) is true.
(A) H8Ro38 5, (R) H83S6.
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Identify the correct phenomenon with reference to transport in plants.

WP L Tl dowodud B Eyichaird) wBoSod.
Options :
Harmones are chemical stimulators always transport towards growing points.
PG o w3 EPchIE Rimrw Jodydr $B B0t WhTes SoEgl dTer
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Transport of water and minerals through non living conducting tissue is
multidirectional.
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Transport of solutes through hiving conducting tissue is unidirectional.

ook Fisro e 45 PNde Smerou TYT o A¥S' adhéed

Diffusion and cytoplasmic streaming supplemented by active transport is necessary
for movement of substances to shorter distance.
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Question Number : 22 Question Id : 1874635142 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Deficiency of a set of three mineral ions induced by excessive absorption of manganese
lead to the following set of metabolic disorders. Identify the set of deficit mineral 10ns.

A) Transfer of electrons by ferredoxin and Cytochromes
B) Synthesis of DNA and RNA
C) Normal functioning of the cell membrane

3n8) 0" whfor Srofel Fucdadd Jod 332 Swuore Shodedb So
Bod £Hfchwn Teyydamow
A) WOTHS HOEn PEE DY SFched dugs T
B) DNA &00in RNA S0
C) Swdghbo T Jdw
Identify the set of deficit mineral ions.
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Options :
Iron, Magnesium and Nickel
1 Fdw, Soljaoho 500 J86
Iron. Zinc and Calcium
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Iron. Molybdenum and Magnesium
Qsad0, Srofido Sobole Jolyacio

Iron. Magnesium and Caleium
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Question Number : 23 Question Id : 1874635143 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Enzyme reaction - Enzvme name
A)  Glutamic acid — Glutamine - Glutamate synthetase
B) Ful.6BP—-Fru6MP. - Phosphatase
C) Glucose - Glu6P - Hexokinase
D) Arginoacid — Arginine - Argino succinase
B wdoR Hiohiw
JOBSn S8y - JoBS®L W
A) Hirdo§ viyo = WS - D8 [eEBE
B) ©§£1.63 I8 5@FE6My. - F9 B8
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Options :
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» B.C
; C.D
s A.B

Question Number : 24 Question Id : 1874635144 Question Type : MCQ Option Shuffling :

Choose the correct combination.

Single Line Question Option : No Option Orientation : Vertical

- Enzyme class

|

Ligase
Hyvdrolase
Transferase

Lyase
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Which of the following statement 1s correct with reference to absorption spectra and action
spectra

A) Inblue light, Chl a shows maximum absorption peak than Chl. b

B) InRed light. Chl a shows maxinmun absorption than Chl. b

C) Absorption spectrum of chlorophyll 1s maxunum in blue hight. wheras action spectrum
1s maximum in red hight,

D) Rate of photosynthesis 1s measured by O, release.

Fam Soboin Sty SfEtred Sowoded Bod T pgost SO JI?

A) 3O so&S* Chl. b £68 Chla f0Q Fam it S

B) 383 s0dS® Chlb $0& Chl. a & § ¥l i

C) Q9 508S" SLE 5P Bige B, $h SFELo H0%0 579, Horg SFaloo YT odS”
glepets

D) O)ddded =i 8dmxsy Soden Balr Bind REr80I.

The correct answer 1s
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Question Number : 25 Question Id : 1874635145 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Identify the wrong statements with respect to ATP synthesis i Chloroplast based on
Chemiosmotic hypothesis

A) Proton gradient across the thylakoid membrane increases due to Quuinone cycle

B) Themovement of protons through Fg leads to decreased pH in stroma of Chloroplast
C) Breakdown of proton gradient is a cause for release of energy

D) Sphtting of water molecules produce protons 1 stroma of chloroplasts

08 TP S' BAruUIE STodo sodor ATPSoRdas Sunofod ud SSSsred’
Sy vors U Whoded

A) 8 S Sudho Jod Zusrowd dido AWIYo @S MES Biad D
B) Fpouo @rse dudo ol Sodtay sigss' pH sl

C) o Boad dgFo dod & Jdodoi

D) 8 e 29yd0 Sod S0BoD Bwy, wIfs” Firdw &3\ wi

Options :

| AB
, B.C
3/ BD

4 AD

Question Number : 26 Question Id : 1874635146 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Anrange the following steps in ascending order based on no. of ATP molecules gamed
when one glucose molecule participate in asrobic respiration.

I) Total no. of ATP in Krebs cyele
0 Succinyl COA — Succinic acid
) Pyruvicacid —AcetylCOA
V) PGAL —BPGA

W HpSE Sl sHfchy” IS HJ/D Bod SHHYT I6YES ATP 86 oo d) eF'SE
(ES00ST wiodydw

) @4 Sechoed JH3E ATP e

) &5085 COA—-IHIF wshudw

) OIS eiw 588§ A

IV) PGAL —-BPGA

The correct answer 1s
E.'::Dg.‘jo& D BTG

Options :

| ILIV.ILI

LILILIV

L

3 LIVIILI

, LOLLIV

Question Number : 27 Question Id : 1874635147 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Based on plant growth regulation ability choose the correct combinations.

A) Carotenoid - ABA - Tolerance of stress

B) Terpene - IBA - Root elongation

C) Adenmedervative - KN - Production of new leaves
D) Purine denvative -  GH, - Fruitnpening

2Bl QuRoES FH0fpaon eRlvd & ol FES" T3S ado MBudiiw

4) 35GTons - ABA - Pézue ITNod
B) 3063 - IBA - B ol

C) @S oo - KN - Fg SEe add
D) 588 s T - GHy - Yuo 38

Options

; B.D

1+ A.C

3 B.C

4 A.D

Question Number : 28 Question Id : 1874635148 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct mathematical expressions of linear growth and sigmoid growth and no.
of progeny undergo division in both growth curves.

Sl S DRiNEe DHOcin Bmpend HIFtyeid Srdod (b Sdostadnoii Hdaks
& Bod DOHGoS® Aes Dod Leiore Sopgud HBokdw.
Options :

Li=1lg ¥t} W1=Woe": 1,2
!

L=l W,=Wg: 1.1

T

L=Lo+rt: W;=Wge": 2.1
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4Lt=L0+ro: W;=Wpe': 2.2

Question Number : 29 Question Id : 1874635149 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following.
List-I List-I1 List-ITT
A) Photoautotrophs 1)  Oxidation of morganic 1)  Bacillus
substances
B) Photoheterotrophs 1) Organic detritus ) Beggiotoa
C) Chemoautotrophs 1)  Organic CO; D) Chromatiwm
D) Saprophytes )  Atmosphenc CO, V) Rhodospirillun
Bod TAR 2EHPTDIR
sde -l arder-11 a1l

A) 506 Hobordrw 1) eRoPH dJoge sfHigin 1) a0ed

B) 508 So¥ase 1) RoBdh IR o) Zjardr

C) IFoss iii) $3y COs ) EHoHaos
RIS O EETE

D) Yoo iv) Tesse CO, V) 582005

The correct answer is
ROGIN [SrE NS0
Options :
A B C D
| . I L IV o i o |

A B € D

v T LI IV ol

La

3 mwl LIV m IO oIl
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A B C D

IV i 1 T 0 T |

Question Number : 30 Question Id : 1874635150 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Enveloped virises like measles. Rubella and Adenoviurus attached to the
susceptible host by spikes.

Reason (R):  Influenzavirusis an enveloped virus attached to susceptible host by spikes.

Ao (A): DS, HTo 0En IR Sof wBE JBen, [Ty
SEPovoH Wrldnsod Ldsy otrun

o (R): 2IYShoar JO8 ol wanhd SO0 TSty wFond Srdlndod

583, 0bno b,
Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
| (A) 00 (R) w0 $6@03D, 00053 (R) 0®is (A) S S0@08 IS,
Both (A) and (R) are true but (R) is not the cormrect explanation of (A).

(A) 2050 (R) oo H0G0850, 5@ (R), 85058 (A) & S0508 J5dm T,

L

(A) 1s true, but (R) 1s false.
(A) 503058 (R) $6@058 8.

(A) 1s false. but (R) 1s true.
, (A) 30388 o (R) SOG:SE.

Question Number : 31 Question Id : 1874635151 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Find the mcorrect statement.
A) Chromosomal altemnations are caused either by deletion or gain.

B) Genes with low recombination show linkage where as loosely arranged genes show
higher recombination.

C) Frequency of recombinations between gene pairs on the same chromosone mdicates
their activity.

D) Segregation of genes occur in a less frequency in sexual reproduction.

& $0b TG J0sN TEEN) MGotod

A) FSrrod'd Srdyw S0 Gn T eddor Ind Jod b

B) 8853 $S:80@rado $OhS FQ) adgIew IFufEdh SrJeran Shwm I8
BIPHO0 WHE YIVORI VT V) TP TOR

C) 28 FrdDsI adgdho ad Dy Jod HHwboddrasd FSPigo o FRrIFD
B, BEriodd Srdded

D) Sonf'$8S" algde IIEE S8,5 IH:HIgo Srdducd

Options :

, AB

C.D

!.-\J-

3. B-C

4. 4D

Question Number : 32 Question Id : 1874635152 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Identify the true statements regarding a Double standard DNA molecules of length 170 A
and possess purne and pyranudines in a ratio of 40% and 60% on one standard.

A) No. of Hydrogen bonds 130.

B) No. of phosphodiester bonds in one strand are 49,

C) No. of dicyclic nngs are 20,

D) No. of thvmines are 20.

o8 FUS° IrgBlen Bodcin LEIBH 40% Hdcin 60% 5O 170 A o DEHS Hol
8650y DNA 2:0H% J0200008 08 T5guds ioddw.

A) TEes wogro Jopg 130.

B) of FIGQ VB0 woFro Sopg 49.

C) Odochaing Sodirw Sowy 20,

D) 3xie Somg 20.
The correct answer 1s
QORI SBrESB0

Options :

| AB,C

B.C.D

La

ABD

ACD

Question Number : 33 Question Id : 1874635153 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct statement.

RO :rag:a:ﬁu PESININVNEY

Options :

Capping of hn RN A means the addition of adenylate residues at 5' end.

hn RNA 5§58 »d308 ulidw ﬁﬁdmdw&i S R0R Wokrd
|
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y gene of lac operon encodes transacetylase enzyme.
oF LITIEN Y a2l rHelhStE el JoFR Soey) Srdied

L2

In Eukaryotes structural genes are mnterrupted by coding sequences.
QuSolE dPHod’ Yoy adgHes wodordred 283 B0 Elred” Golrun

The lac operon has two regulatory genes and three stractural genes.
o8 w NI Tody TigBLl e, Jord T e wlvgPusuiron

Question Number : 34 Question Id : 1874635154 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A student isolated a new virus which is able to infect E.cofi. The following experiment has
to follow to confirm the hereditary material of new virus.

&8 QO RFOW JoEdodio F'g I0nR Bluad. & 300 GwE), 9hie3s sogd)
VT0oSTOE & ToEpoebs PErmy) eRNieTSSN.
Options :

Hershy Chase experiment —Growth on radioactive Phosphorous medium — infection
to E.coli.

6, 20cn BT R —BERrTOE FHS K95 cirSsen BEDEY —
.80 HoEdoghws

Mathew Meselon and Franklin Stahl experiment — BNHLCL N medium -
centrifugation.

Sy DonEHS Ho0osw FosS P P&RBw = NHClSs0csn N airndgo

hhde - olBuIBEdn N

!.u.ll

Mathew Meselson and Franklin Stahl experiment — Digestion with protease - CsCly
gradient centrifugation

Sy HindHS 500 ols S PAro - POHE SIRPNeD E8hosol
- CsCls $ed ogo wisofisdm

1 E
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Hershy Chase experument — Growth on radioactive sulphur medium — infection to
E.coli.

WO Hocin E SRS — BESIrEOF o6 Srifon DbEs — 8T

@IS0 5 000

Question Number : 35 Question Id : 1874635155 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Mateh the following,
List-T List-IT
A) HmdII 1)  Agarose gel
B) pBR322 i) Adgrobacterium
C) TDNA m)  Ampicillin
D) DNA 1v) Recognition sequence

808 TRV BESKBIB®

A)
B)
C)
D)

ador-l
Hind ITT
pBRJr?E

ado-ll
1) 9is'S B8
11) H(/‘I‘s::_.sfﬁai:&
1) esoWVOS

) Moy wiEiodos

The correct answer 1s

RORIR JJT LR

Options :

A

A

w1

| S

w.I

B

110

B

1. 11

C D
LD IV
C D
7511 QT

S88°

S 838 °F

List-II1
S1x base pairs

Selectable marker
Elution

Transgenic plant
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A B C D
3| .l w IV 1. 110
A B C D

LI IV I w1

Question Number : 36 Question Id : 1874635156 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A. B and C are transformed host cells with r-DNA made of PBR322 <A" has foreign DNA
msert at Bam H1 site. ‘B’ has foreign DNA mnsert at pyq;1 and *C" has DNA msertin Lac 2.
When they are grown on media for selection following changes are observed.

A) ‘C transformant produces blue coloured colonies
B) “C’ transformant colonies do not produce blue colour

C) ‘A’ transformant survive on the medium contamning ampicillin and ‘B survive on
tetracychin contaming medmm

D) Due tomsertional mactivation. ‘A’ survive on Tetracyclin contammg medim and ‘B”
survive on medium with ampicillin

A. B 0080 Ceodad Sord Sarws PPRIZZS, 20@raod) SoirHdnd S0585 oo,

‘A’ ¢* Bam Hl g50&* Jendal DNA SH0S0856, B’ & pyyl $des” dersan

DNA JHyodndss. ‘C' ¢ Lac 2 dc Jwrdod DNA FhHodendss. D8I I F%

Srivos’ BeSHB & Fob drdywn HHoUSEND.,

A) CT 505880 OG0 HArTo BEEbi

B) “C’ 36508 SSrden o Srd9

C) ‘A0S0z e sohlds &) Grssdnd’, ‘B'3050sw B 38s &) drdsod’
MRS

D) =2$388 asE3aS Sol ‘A'BErpis 6 cirisos' ‘B uobbal &) cirsses’

WM

Identify incorrect statements

SO TSR D805

Options :

y AD

1 E
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Question Number : 37 Question Id : 1874635157 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct sequence of steps in PCR

FO5:0E B 0uirgd (PCR) &' Suge SEdEsese

Options :

Annealing - Denaturation - Extension - Amplification
WIOA - Iqerdsdm - FEN0Y - HYLDET

Amplification - Annealing - Denaturation - Extension
551"055&5653 - @0eoh - I cerBEGm - FEHoD)

L

Denaturation - Annealing - Extension - Amphification

Jirgeriidm - wddoh - FEH0Y - ByLeSsn

Denaturation - Amplification - Extension - Annealing

IFqrSsde - Borbdsde - FENOY - wIOGR

.-

Question Number : 38 Question Id : 1874635158 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Blood cholesterol is lowerad with statins produced by yeast.
Reason (R):  Statins mhibit synthesis of cholesterol through competitive mhibition.

Jago (A): 20 GG Taguds PUSw JBod” FBJTER Sidon
sdwo (R): PBEISR FUST ITGES oo Fopod Sofamse eadlinged

Options :
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Both (A) and (R) are true and (R) 1s the correct explanation of (A).
(A) So8cde (R) e S0&D, Lbciw (R)w@idd (A) 0 3088 Jidm.

Both (A) and (R) are true but (R) 1s not the correct explanation of (A).
(A) Sbcin (R) o $06082. 50 (R) @ioss (A) % 60508 8 s,

L

(A) 1s true. but (R) s false.
(A) 568036 (R) S6@056 5.

(A) 1s false. but (R) 1s true.
, () 50388 w8 (R) 506,

Question Number : 39 Question Id : 1874635159 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following.
List-I List-TT List-ITI
A) Biological mitrogen fixation 1)  Tiichoderma I) Bacterium
B) Mycorrhiza 1) Propionibacteritiim 1I) Free living fungus
C) Biocontrol i)  Acospivillum 1) Fungus
D) Swiss cheese w)  Glomus IV) Free living bacterium

Bod TTI0 2ESETB

Ro-1 D1l she-11
A) 25 SBud IS 1) G83oy D) wfoeid
B) 28o@durwc i) @Odrdardoats T 'i)_gﬂ':;é&’)ﬁ 200500
C) 23 Judoude i) eI )00l 1) 200Esw
D) 2% e V) SWS V) "a_ga:}éé:ﬁ = §0GH

The correct answer 1s
DOGE BBoGESE0s

Options :

1 E
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w IV I I 110

A B (2 D

w. IV I .11 1. 1

L

3 LIV BT iDL
A B C D

1. I v II LI IV

Question Number : 40 Question Id : 1874635160 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct statements.

I) IRS8isasemidwarf vanety of nce developed in India.

II}) Hybndsugarcane show high sugar and high yield.

II) Hybnd nullets are resistant to water stress,

IV) Sonalika is a high yielding and disease resistant hybnd vanety.

& (B0b TAST SOERSED KHBoS

) IRS<38 ordddioe” Sairddhs 28 o850 S50

I 6 Ses o STY 00» €68 bidwd vferw 50 dotned

) @6 ST gw 8 Bduodn 0cin Fgh TGS viorw: §95 Jew
IV) 2505 oRd8 288 &ihwd HiGK T30 0'EE OE og), T8

Options :

, LILII

, ILOLIV

LILIV
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Zoology
Display Number Panel: Yes
Group All Questions: No

Question Number : 41 Question Id : 1874635161 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A): The tropical Amazon ramn forest in South America has the greatest
Biodiversity on the earth
Reason (R):  The tropical latitudes have long evolutionary tume

I§So (A): Grfiidon &
o (R): salody exoTod” HEY Wardbsro S50 oodod

Options :
Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(A) 5803w (R) oo Bod S0G0S5D L0 (R) wld (A) Su 5068 IS8

Both (A) and (R) are correct but (R) 1s not the comrect explanation of (A)
(A) S005n (R) e Sodsr 65D 50 (R) 638 (A) § S0S308 D560 576

—

L

(A) is correct but (R) is not correct

(A) 506036 5 (R) 2000358 8
3

(A) 15 not correct but (R) 18 correct

(A) 306356 B 5% (R) $08058

Question Number : 42 Question Id : 1874635162 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Assertion (A) : In old age. bones become more britile

Reason (R): During agemg. the quantity of organic matter increases in a bone
oo (A): S053:55 oA E‘Q LR WO BVIHSOR
simo (R):  IS0ES" Saids o0 5§ G Sorgw efsor Jdsaw

Options :

Both (A) and (R) are correct and (R} is the correct explanation of (A)
; (A) 003w (R) ©o Sodor Ebﬁgjﬂéi.‘.l So865% (R) @3s (A) & ﬁﬁ@.‘.& B Yo 1)

Both (A) and (R) are correct but (R) is not the comrect explanation of (A)
(A) So8cn (R) w0 Do #0050 50 (R) ©36 (A) & $063d IS0 576

(A) 1s correct but (R) 1s not correct

, (A)50@E0 30 (R) 0G50 &

(A) 15 not correct but (R) 1s correct

, (A) 308058 578 5 (R) $0@36

Question Number : 43 Question Id : 1874635163 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Study the following statements

A) Tnploblastic animals are usually biradially symmetrical

B) Certam organs in vertebrates are coverad by panietal peritonewn only on their ventral
side.

C) Pancreas is an example for holocrine gland

D) Elastic cartilage 1s found in the wall of Eustachian tubes

Bod wore wdgohio Dabod.

A) 9308 2Hhw FFiovT Hdodh JETY SIN Golrow

B) #5ihsod’ S olchaor &dtyied” Sm@gd e 5ol §Hud Golron.

C) Edo W@_ﬁ NoB8 ¢S o

D)

e’

OPSE Syiory FgTve FdS Guloed

Among the above identify the correct statements

Options :

1

L

AB

B.C

C.D

B.D

2r8S" S0 &8 voTws Wludusd

Question Number : 44 Question Id : 1874635164 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Match the following

List-1 List-11
A) Cuttle Fish I) Greenglands
B) DewlFish ) Medusoid form
C) CrayFish IM) External shell
D) Jelly Fish IV) Intemal shell

V) Shell 1s absent

Bod O 2EVGH0s

e -1 o -11
A) s58& TS I) 3068 plodosn
B) Bodgh 33 M s> Srdo
C) @ 3 ) =g s6do
D) = 38 IV) woéd stydo

V) &6do Dot

The correct answer 1s
'{.‘»&@.325 SIS L TA o

Options :

(A)  (B) €) (D)

, M V I I

4 @ (© (@D

N v I I

L-J

(A) (B) (C) (D)

. R i
@A B (© (D)
o M O I \

Question Number : 45 Question Id : 1874635165 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
collegedumas
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Study the following regarding arthropods

A) Insome spiders respiration 1s performed by both book lungs and trachea
B) Development of king crab includes trilobite larva

C) Blood of arachmds contain haemocyanin

D) Indiplopods mandibles are modified into gnathochilarmun

sz d9o HicD ob soTw wiguhbo Do,

A) ) O¢S" roinTeer Do PISY LGS TN TISEod ol
B) oshd sO5RE" BB Sodfto Sotod

C) ovrdir dJo G§od" TIrIicbIl Gotnod

D) &FIo £Jus’ THPoo Sy Fod ISTFOO0 B

From the above. Identify the incorrect statement(s)
D TES, 205D Bosu(en) Hioin

Options :

| A&C

B&D

| S

Question Number : 46 Question Id : 1874635166 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Teeth m mammals are

ESoos'd Soorew

Options :

Acrodont. homodont and polyphiodont

wfifdos, SEo8, wdvaddosd GEHD
1

Acrodont. heterodont and polyphiodont

@P&0E, JANC0E, RIVTVEE TEIW

b,
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Thecodont. heterodont and polyphiadont

Hg&os, (WG, wSvaddod S8
3

Thecodont. heterodont and diphyodont

Rgdos, JSodod, Hrarddos O858w

Question Number : 47 Question Id : 1874635167 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Study the following and choose the correct combinations

Group Example Character

A) | Chondrichthyes | Torpedo Dorsal muscle modified into
electric organ

B) | Rhynchocephalia | Sphenodon | Copulatory organ is henupenis
C) | Urodela Salamandra| Amphicoelous vertebrae
D) | Chelonia Testudo Edentate

B0 T8 S03000, ES" SO WYIORR s

Wov = Lo letss) OSR0
A) S OIB8R rdya* Syasodorer JSgd
VIHATWT MGy
B) Sof AT %).S‘J’:S Dodl), wIohdo WLRIN
C) Sar &l FJodroE | eGPl $8dsos
D) S Joda Tys* Gud gorso

Options :
, AC
, B.C
; AD
D

Question Number : 48 Question Id : 1874635168 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
collegedumaa
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Match the following

List-1 List-1I
A) Isogamy I)  Trichomympha
B) Anisogamy O) Euglena
C) Hologamy I) Plasmodium
D) Conjugation IV) Monocvstes

V) Paramoeciim

Eod TED =2SBEI0s

>ha -1 e =11
A) /X [odB>rio D & oo
B) @& Su@riho m aorjo
C) F&hi M Fogdaio
D) Qoo IV) S 5o

The correct answer 1s
0 @:ﬁ DRI T DR

Options :

a4 B (© (D
, v m vV I

Ay (B) (© (D)
s N m IV

(A) (B) (€©) (D)

, V @I m @V

Ay @B (©) (D)

I S

Question Number : 49 Question Id : 1874635169 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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The following chemical is commonly called smack.

el drohTd) FTdmor T QLT ®

Options :

Morphine

1 «JJ‘S_DN

Diacetylmorphine

ZINES ﬂr&aﬁ

L

Cocame
535

Cannabmoids

ST AT0NG)

Question Number : 50 Question Id : 1874635170 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Microfilana exhibits noctural periodicity
Reason (R):  Intermediate host of Wuchereria is active only during might time

JfhSo (A):  DE IO ITso GSITR) Sgio Tod
sdeau (R): G500 Hogpdosddon TEvLE SMERs Buriuon Solbuod

Options :

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
1 (A) Bodw (R) w0 Bodr J0GHD S0cin (R) w3d (A) S H0G%08 500

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A) 0w (R) w Bodr 30080 53 (R) ©38 (A) § 50508 i 57
(A) 1s correct but (R) 1s not correct

(A) 508058 2 (R) $505056 58
3
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(A) 1s not correct but (R) is correct

(A) 585358 & 50 (R) S0GeE58

4

Question Number : 51 Question Id : 1874635171 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The following are events mn life cycle of Plasmoditon m temale Anopheles

a) Syngamy b) Formation of gametes
¢) Oocyst formation d) Sporocyst formation
e) Ookinete f) Zygote

-

B8 JTOONS" FIYEAD0 £18 SEoSTY I (Echen §od RBreTow

a) Do b) Hagwror JGEL0
) &R Lo d) TR DSELo
e) w838 f) Hocincd d=o

Arrange them i correct sequence

D TED B 5O EB00s” w08
e e

Options :

1

Lis

d.ce.fab

b.a.f.c.e.d

b.a.f e c.d

b.fa.e.c.d

Question Number : 52 Question Id : 1874635172 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Study the following statements regarding filarial worm
A) The mnflammation i the Iymph vessels is called lymphadenitis

B) Swelling in the extremities of limbs, scrotum and mammary glands is called
Iymphoedema

C) Sausage shaped larva undergoes three moultings and transforms into infective 3'9
stage microfilaria

D) 3" stage microfilaria larva enters the blood vessles of man and undergoes the 3™ and
4% moultings to produce young filarial worm

PO00r YA H0od $ob soTud sfgahbiso Bohod

A) TUSH FTeud® 500 Y SoPBosR wotrdd

B) #daomre Adbzrmen, Snd)iww, sTod' TP DoPIGSHr @wolrdd

C) & s5d Sugso rd AT dorer Jh BRFI FuF s 35 o DEFPTOCrT
SR8

D) Sr&S¥ PEPO0Sr Bogso SrEHD STTosE 36 35, 45 AT Peen
BHITR DBOIF YT SrHE0H

From the above, identify the correct statement(s)

D EG* OGS woIdwn(a) WhothEn

Options :

1 B

_B.C&D

, B&D

. A.B.C&D

Question Number : 53 Question Id : 1874635173 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Identify the mismatched pairs

A) Trophocytes - Symbiotic bacteria
B) Mycetocytes - Store food

C) Urate cells - Nitrogenous wastes
D) Oenocytes - Secrete lipids

Suld T8S” 0T 2WATT2E adw
4) opln - ST4SS oioch»
B) D& - o dwd

C) clwdE Saen - S@2d SHdTen
D) &33h& - Fige @do

Options :

e

A.C

L

. AB

AD

Question Number : 54 Question Id : 1874635174 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

collegedunia

—



Match the followmg which are related to cockroach

List-1 List-1I
A) Adductor muscles I) Depression of wings
B) Dorsal longitudinal muscles M) Respiration
C) Alary muscles II) Mandibles
D) Dorsoventral muscles IV) Excretion

V) Blood circulation

FTROEN VooRoUs ol TEY RSRCWOE

e -1 e -11
A) ebide SodTws D 3 eo Sodsk ooSdo
B) 3R woid Sodow I) eS8y
C) Igsd Sodow o) SdcHos
D) $yFE0 sodoen IV) JRgs

V) ognsce

The correct answer 1s

SO@N JEPTSH

Options :

@A B (© (@D

it I V I

(A (B) (C) (D)

I m Vv II

[

a) @B © @O

(4 @ (© (D)

A\ I m I

Question Number : 55 Question Id : 1874635175 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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If 20 joules of energy 1s available at the producer level as net prunary productivity, then
amount of energy available in secondary carnivore in joules.

SHET e FisTows' 20 TS ¥§ IS0 |FFE Genydsd Sdbowd Brdch
SrorFoed’ God §§ (FTod')

Options :

| 2

, 0.002

Question Number : 56 Question Id : 1874635176 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) :  Curcannular rhiythms are controlled by biological clocks
Reason (R):  Temperature has a role in setting the biological clocks

Qo (A): T08 vohod EHNSGCITW FCRHUBTOR
sdmo (R): L£51GorTe JTdnd’ G iE NG sulood

Options :
Both (A) and (R) are correct and (R) is the correct explanation of (A)

(A) o5 (R) oo Bods S0GSD Sobakn (R) @b (A) S 566308 Ji6m

Both (A) and (R) are correct but (R) 15 not the correct explanation of (A)
(A) H6c5w (R) &3 Busr $0G:5D 5 (R) &35 (A) § 305355 950w 57

I-a

(A) 1s correct but (R) 1s not correct
(A) 30258 =@ (R) 053056 58

(A) 1s not correct but (R) 1s correct
(A) 3583358 T 5 (R) S0R36
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Question Number : 57 Question Id : 1874635177 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Study the following statements and identify the mcorrect statements.

i

Bod vworw H0LduD SOF

b

©oTd0 Rlodud

Options :
Deeper region of dermis 1s made up of dense uregular connective tissue

wodH1os* &8 Foged® PPl FRETE Sudrad Seeo Hotnod

Tendon 1s a dense regular connective fissue

oduzedo wf Fohcdh Eloindg Sudrel Soareo

1

Pisiform bone is a visceral bone

WRPTN Q008 wf BodTTUh J30S

Megakaryocytes produce blood platelets

SEPuSEoin oy ) oils Sares &8 IFTow

Question Number : 58 Question Id : 1874635178 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Fresh water fishes acquired several adaptations to withstand endosmosis problem. Theyv are

A) Their aglomerular kidneys excrete large quantities of water through urine
B) They compensate the salt loss by absorbing salts through chloride cells

C) They retain urea in blood to keep the body fluid isotonic to aquatic medium
D) Thewr glomerular kidneys excrete large quantities of unne

@odd (GTdNn DRdged JH I U8 odad Shw oI cldroTol FoTow. Bl

A) o8 ¢g58dadw foSdord JorM@eudw @o Tgo vhs IS RWERTo b VS

B) ®©d odaroi §0& Soru oo Fuod o £6 Son

C) THEsSnos H036 88" $Hmddd' sdodadd dsos' wrddird Jesd
DS olrow

D) &8 dRiTdsiivg) SuEbomw wdf 3uded’ Smgd) INiJew

Choose correct statements
POV Trpgols HBowHM
Options :

| A&B

C&D

L3

, B&D

B&C
K]

Question Number : 59 Question Id : 1874635179 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Imagine the lion population of 40 in a forest cannot continue to grow exponentially due to
lack of space. The carrying capacity for their space i the forest is 80. Assume ‘r” value of
Lion population is 0.2 Lions/mouth per capita. Predict the total population in this logistic
growth situation after one month.

w8 sEdS" Doty aTy 40 Yond. BT WO GodLio Jud LIFrSoE KB
DOSBEYFron. B BEIS” FIITS €& Jwd 80 Hobdin T=BH R0EBYE T (1)
Jeud 0.2 RoFFw/Fe. oERs VWhbe 85" of Ju ILTY RoFo Inde T
Q087
Options :
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40

12

44

, 84

Question Number : 60 Question Id : 1874635180 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

The disease occurs due to deposition of 1ron particles i tissues 1s

Enarerud” s Tangw Lo I SO J“g&n
Options :
Silicosis

b, =mein E
oIS oo

Siderosis

g T
1 ol ot

Emphysema
3 JOS RS

Pneumonia

;63 (A 08 U:;J‘
4 ®

Question Number : 61 Question Id : 1874635181 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Study the followmng (consider maximum values)
A) Inspiratory Reserve Volume (IRV)

B) Tidal Volume(TV)

C) Vatal capacity (VC)

D) Total Lung Capacity (TLC)

E) Residual Volume (RV)

"

B0l FUD wzoibe Bododn (Hon Iwde sEdo)
A) SR Vool wIntdrwe (IRV)

B) 8&6 sorgd (TV)

C) 3&s Fdggo (VO)

D) &8 99s d%gse (TLC)

E) 53t wsstsrme (RV)

Fea

4

Arrange the above volumes of air in ascending order
D TESR md PISTIr0 SO sOTnEI0S" elibn

Options :

lBAEﬁCeAqD

E-C—=B—osA->D

L2

. BSE—sA-SC->D

4 BoSE—23A—-SD-SC

Question Number : 62 Question Id : 1874635182 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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T

The above ECG mdicates the following disorder

2 Adwdd ECG & 5ob LIROI Loragol
Options :
Hypercalcimia

I
Il

Question Number : 63 Question Id : 1874635183 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Assertion (A):  Inhuman heart. deoxygenated blood always flows from right ventricle into
pulmonary arch only

Reason (R):  Mitral valve present at the base of pulmonary arch prevents the reverse
flow of blood

SO (A): SEHD HUBE BB uEOES eBed Fird G0 IJOBEN JiYS THoS's
S HES 5308
Fieo (R): PPS odo Sws), adyrfeds’'s WS Lo dsd) IMss
SEDoBnDRE:
Options :
Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
@ 508050 (R) o Bodr 65D $:0050 (R) o3 (A) & S00S 258

Both (A) and (R) are correct but (R) 1s not the comrect explanation of (A)
(A) B3 (R) wo Bodr $0GED 50 (R) @38 (A) § 505308 560 6

(A) 1s correct but (R) i1s not correct

, (A) 8056 50 (R) $0@058 w0

(A) 1s not correct but (R) is correct

; (A) S0BuS8 % 52 (R) S0GkE56

Question Number : 64 Question Id : 1874635184 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Study the following table

Part of heart Location Function
A) | Fossaovalis Interatrial septum Directs blood from right
atrinm to left atrmum
B) Smoatrial node Wall of right atrium Initiation of systole
C) Atrio-ventricular node | Interventnicular septum | Acts as pace maker
D) | Bicuspid valve Left atrio-ventricular | Directs blood to flow from
aperture left atrium to left ventricle

Bob JE5L J0W0uTed

oBS W wriio w3¥o D8

A) |V v $0s~udd Sdivo O50) 808808 Huod

JESEPES'S (BEToBAS08

B) NT-805 Send) Sul 808 Sodgo TS vlogo

<) S0s-2805 Sony | 2Wis S Jboo odirSogSomr SAT%0B

D) |&gS@Eardo I BgE-udls O5d) JE& 588 ool JED
dogo 2O0SS™E (DT BN

The correct combinations are
D SQES S0 asID &F) voTws

Options :

.. B.C

. AB
o BB

, B.D

Question Number : 65 Question Id : 1874635185 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Study the following statements

A) Amaand ventricles are externally separated by atno-ventricular septum

B) Two ventricles are externally separated by an oblique interventricular groove

C) The muscular pouch like projection from each atrium 1s called aunicular appendix
D) Inembryonic stage. the interventricular septum has fossa ovalis

Bod soweds J0800E0E.

A) Egfod. udtfod Swiom ShBhy §85-udls oo wolnod

B) Bods 2808ud Jaodomr IHNTI: JLT T 2605 080mE Godod
C) 808w oy eds oriiod” &0l Soddosnd §'va) S§0F Gubdrio Botnd

D) Qo¥sSE¥S® 2805080 JLvosS' IV TPt Sotuod
Identify the correct statements

2 byl el o) &__3_55 2o Liodod

Options :

| AB

B.C

L

< >

L AD

Question Number : 66 Question Id : 1874635186 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identifv the correct order of stages 1 muscle contraction

E08IS05 U0 Sl J0SNS SWIE0S eiodyhn

Options :

Stimulus — Release of acetyle choline — release of Ca”" ions — Excitation of triad
system — sliding of thin filaments — Z-membranes brought closer

&855 = INBS §65 e - Ca™ wairlo Ihbe — Bolrdghy BN —
S0 SodPw TYEo = LIt SR ik

1 E
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Stimulus — Release of aceryle choline — Excitation of triad system — Release of
Ca’* ions — formation of cross bridges — sliding of thin filaments — Z-membranes
brought closer

QIS = BB §O5 dodo - Bt Sg59 &HOS — Ca™ sulrSu ddde —
ol 508w JREdo = IHY SoBMIw oo — Z dorew Sifch oohdu

o

Stimulus — Excitation of triad system — Release of acetyle choline — Release of
Ca’" ions — shding of thin filaments — formation of cross bridges — Z-menibranes
brought closer

GEE8 o BuirSgss SHES — INBS FOS Jhdw — Ca¥ wuirie ddde —
SR SodPe IS0 — Bl JWIIW :Jd_)&é.su — Zéjﬂ"'m SHoH Trido

Stimulus — Exition of triad system — Release of Ca®* ions — Release of acetyle
choline — formation of cross bridges — Z-membranes brought closer — shiding of

thin filaments
855 — Boirdghs ¢S o Ca™ wdirSu dhbe — WES §H35 ddde —
oy Soddes dJHELo = Z St iR oibido — S50 dodHor @ido

Question Number : 67 Question Id : 1874635187 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Study the following

A) Action potential B) Threshold stimulus
C) Under shoot / Hyperpolarisation D) Influx of Na™ ions
E) Efflux of K™ ions

§od SRR wigchio Tohudn

A) Bosrdse B) @a"&g & 833
C) :J:'a.}}r?;uw UETATa NI TE D) Na™ edirao sodfiodc

E) K*eokrSo abgedo

Arrange the above i a correct sequence of nerve impulse generation and conduction.

THRHIES wdoydo, ITToR Soweded B woTod ERBEES" vhdyin

Options :

1 E
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BA-S5D-SC—E

o—

A-B->C—-D—->E

L

BoD-SASE-SC

4. B—=D—oE—-SA-D

Question Number : 68 Question Id : 1874635188 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following
List-1 List-1I
A) Complement proteins I)  Promotes apoptosis
B) Interferons II) Incorporates viral DNA
C) Interleukins II) Membrane attack complex
D) Integrase IV) Antrviral proteins

V) Dafferentiation of mmune cells

Bolh T8I 2805506

zrda -1 zHa -11
A) 560E FESen D oaDEH @FEohe
B) 20L5uorae ) 39S DNA S edfodhb
C) =chlurgiow ) sderd So8do
D) =208@E IV) 6368 288w

A% 58 S5 SE Lo oSS0

The correct answer 1s
20G0S SBrTEB0

Options :

A @B (© (D)

N S A AR
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A @B () (D
Y I VvV m

L

@ @ (© (D)

A @ © D)

Question Number : 69 Question Id : 1874635189 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Study the following statements
A) Calcitonin regulates the metabolism of calcium

B) Oxytocin stimulates contraction of uterine muscles
C) Graves disease 1s due to malfunctioning of adrenal gland
D) ADH sumulates water secretion and increases urine formation

808 worw ©dguhde Sobod.

A) s9cio E5ched FOHEIS ool

B) w§i'ed fogich Sudvry Suf'ed) (WOLdgeb

C) wosy, (b som SadchEdise So BS) 756 soabeis

D) ADHQE @oQ) (@080l ©df L@y ¢a\E Bonod

Identify the incorrect statements

» T8S" {00 woTen Livthdw

—

Options :

, A.B

C.D

-3

3 -AC

, B.D
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Question Number : 70 Question Id : 1874635190 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The umque feature observed in the foetus dunng fifth month of pregnancy

Ao S 58 S’ Fornod’d IS LER0
- la
Options :
Body covered with fine hawr

$680 Eﬁ;}(&ué%ﬁ &'Srud D\ Sodlio

Development of limbs

SoITe) © 5&')&& ROBE0

ad

L2

Appearance of hair on head

Fodod Joosen TTHE0

Formation of heart

"
af

..T"Jiu:i.:u Q*:}Cit’..iu

Question Number : 71 Question Id : 1874635191 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Study the following about contraception

List-1 List-1I List-1I1
A) | IUDS Lippes loop Medicated
B) OCPS Saheli Non steroid
C) | Contraceptive injections | DMPA Prevents pregnancy for 3 months
D) | Bamer method Vaginal nng Release of progesteron
E) | Surgical method Vasectomy Removal of fallopian tube

ﬁdﬁrﬁﬁ‘ﬁ‘ﬁg HOCHODN BYDuHhos HBsdoTod

arde-1 de-11 a1l
A) | IUDS D\ R LMD LAGoswso
B) | OCPS PSRl NTONG Jordo
C) déaii&’f.ﬁé ol Soodows| DMPA 3 Svo S8 e NO'¢E0
D) |e38¢ 548 Q) Svuhe (@RI 6L
E) |d3088) 488 SR TSR TYo Soled)

From the above, identify the incorrect combinations
2 TEE S0 BEDoDOH HBoHIW
Options :

, A-D&E

AC&D

L

C.D&E

. B.D&E

Question Number : 72 Question Id : 1874635192 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Study the following parts of the male reproductive system.

A) Retetestis B) Epididyimis
C) Urethia D) Seminiferous mibules
E) Vasdefersns F) Ejaculatory duct

G) Vasaefferentia

QR addooss Sz dcwododd Bod grrols efgahbdo Robos.

i

A) 58855 B) J583208

C) ©hgo D) HFenyss 8w
E) DTS F) o8 oo

G) DE 9w

The correct sequence of parts through which sperms pass out 1s
Do ol FSh ST B SLIEDS" vl vé

Options :

]

[

AB.C.D.EFE.G
D.A.GB.E.E.C
D.A.GE.B.E.C

D.GA.B.E.FE.C

Question Number : 73 Question Id : 1874635193 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The usage of technique gel electrophoresis 1s

20 JGFEITRT @E Pobes JTII0 GOHEIIBD

Options :

1

Separation of DNA into individual bands
DNA %o $55801d Soom Soodchots
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Separation of double helix DNA into single strand
Grrdd DNA Sw8) ol J8FS DNA Syl

]

Production of many copies of DNA
=8 DNA Bshe ¢&\§

Cutting of DNA into small fragments

DNA waodoids O8) Sug oom pododsv

Question Number : 74 Question Id : 1874635194 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Klinefelter individual 1s Barr body positive
Reason (R): Klmnefelter mdividual camries two X chromosomes

Indo (A): Eﬁbgﬁ- 538 =l TFo SON Golrd
500 (R): EE&EE 55%&5" Tods X F'3rE Sver dodran

Options :

Both (A) and (R) are correct and (R) is the correct explanation of (A)
(A) 65w (R) &3 Bodr S8$I H0cie R) «38 (A) % 5688 5

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)

(A) D0oin (R) w Todr 308D 52 (R) R (A) § 305308 J5d0 s7

L

(A) 1s correct but (R) 15 not correct

(A) 305056 3 (R) $0g058 v

(A) 1s not correct but (R) 1s correct

(A) 5633056 T& 50 (R) $0@088

Question Number : 75 Question Id : 1874635195 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Study the following statements and identify the incorrect statement

Bol worod H08D0d S05A oy budod

Options :
The DNA 1s fragmented by restriction enzymes
DNA & &@5_5 JOoBINY T po&EdeSdo

Fragments are separated by centrifugation

PO BT as oxo poTes I oo

s

DNA 15 denatured by alkali treatment or heating
57 dFrolsrw, 3& oxor DNA K Scod J¥ed Soboddo

Fragments of single strand DNA are transferred to nitrocellulose sheets and are
identified with probes

D¢ DNA posos B hegs’s 28 508, @S0 oo HBusso

Question Number : 76 Question Id : 1874635196 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Study the following statements and 1dentify the incorrect statement regarding genetic drift

2805 DD K0y §08 voTed oo I IOFY T MGossn

Options :

Chances of losing a particular allele from small population is more
) e’ ) ILE ) FSHTh edsdo J8yS

End result of genetic drift is erther fixation or loss of allele.
adoy DPDHS woBRPOSL pbEse Bor SgaHde

LJ

Genetic drift tends to increase varnations

33:635 31%:;5?3 SUG O f)ﬂﬁ&‘tﬂ‘gﬂ RO
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Bottleneck effect illustrates genetic dnift

SERE Bardo midy IPISE STHd
4

Question Number : 77 Question Id : 1874635197 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) 1 Geographical 1solation brings about the sympatric speciation

Reason(R): If one species diverges to become two or more species, it is called
cladogenesis
IHdo (A): FNEE JIES J0 RoeGE rédve @¢d\d =dMesud

s%u (R): o8 @8 Dok Fpeor DEFFon Sods TF J8yS ardw INHES T

Options :

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(A) S:8050 (R) &0 Bodr H0503D 50650 (R) €38 (A) K J063% BT

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A) So0esn (R) & Bods S0GHED 59 (R) &35 (A) & 506308 DB

L

(A) 1s correct but (R) 1s not correct
: (A) 3063838 53 (R) 505354 5

(A) 1s not correct but (R) 1s corract

(A) S0¢3:858 & 570 (R) 6086

Question Number : 78 Question Id : 1874635198 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which statement 1s correct regarding cancer cells

850 Sero 00D F0GHE Ty MHBOEED

Options :

They exlubit contact inhibinon

0 ATEESD (HSEBRT000
1
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Cells are joined by cadherms

, Boren 3G 0S50S wofEluind

Cancer cells undergo apoptosis
3 590 Serwn Wrdsed Sododards LivJaow
They starve the normal cells by competing for vital nutrients

Foée Srod’ FUIE 88 P VHUERCET BJOW
4

Question Number : 79 Question Id : 1874635199 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following
List-1 List-1I
A) Sandwich assay I) Enzyme catalysed colour production
B) Indirect ELISA II) Pregnancy test
C) Competitive ELISA I) Used to detect antibodies
D) DirectELISA IV) Used to measure the amount of antigen

V) Used to detect antigens

e -1 =R -1
A) Jo&IE wy ) a0 ﬁ@_}ﬂé Joiv GG
B) wo@dgs ELISA
C) ;3%3665 ELISA
D) @égs ELISA

ﬁﬁaa‘ém 508
W3 TOD MlodEus GIBrNT

3 895

@EREE TR SulEFds IVSTTHT0
V) @Eéadsdnveid Hioderlds i@

-

The correct answer 1s
SO0 PIFTHEW

Options :
a) @) (©) (D)
N m 1 \'s
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a4 @B (©) (@D

\Y m I I

|-

4 @ © (@D
N I m Vv

Aa B (© (D)
Y I I A%

Question Number : 80 Question Id : 1874635200 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Study the following statements

A) In germ line gene therapy functional genes are mtroduced mto somatic cells

B) Synthetic olizgo deoxynucleosides are used for silencing the disease causing genes

C) The transgenic ammal product c-lactalbnumnin 1s used to treat emphasema

D) Viral vectors are used to send genetically modified DNA by a process called
transfection

Bold LoTen J0300T0d

A) DeSofd 2dglid Ipded” Buirgs adgods ISEr s (DIFLEE D

B) ®o3hd O & o) Srgidrplod 4BErNcd 0N §00T adgHoss BENg
Jordo oSy
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From the above, identify the correct statements
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Question Number : 81 Question Id : 1874635201 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The sides of a rectangular plate are (9.0+0.3)cem Ellld.( 3.0+0.1)cm. The area of the plate

with error lunits 1s

08 By Sed>rsd Sof ghadnes H6dm (9.010.3)em D0 (3.0+0.1)cm wows

¢ J0E ITogo IS Sho 9dde

Options :
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Question Number : 82 Question Id : 1874635202 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A particle first accelerates from rest and then retards to rest durmng the time mterval of
8 s. If the retardation 1s 3 tumes the acceleration. then the time for which 1t accelerated 1s
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Question Number : 83 Question Id : 1874635203 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two balls are projected from same place simultaneously, One ball 1s projected vertically
upwards and the other at an angle of 30° with the horizontal. If these two reach the ground
at the same time then the ratio of their initial velocities 1s

B0l woMud wE [LEF0 0d wET0 LETUN AQIWYHT RE, NTSTI Béa0s" 30°

Fwo Dol B8%o TR ©d Todr o8F0 Frdid 5o, WoNd &8 Todod §'93my

Question Number : 84 Question Id : 1874635204 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A boy can throw a ball obliquely to a maximum honzontal distance “X wlile standing on
the ground. If he throws the same ball from the top of a tower of height “X’ at an angle of
159 above the honzontal from the foot of the tower. the ball hits the ground at a distance

(Assume same intfial speeds)
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Question Number : 85 Question Id : 1874635205 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A body slides down in a tume ‘t* from rest along a smooth inclined plane making an angle of
45° with the horizontal. When the same body shdes down from rest along a rough mclined
plane of same length making the same angle. it takes tune ‘pt” then the coefficient of friction
between the body and the rough plane 1s (p 1s a constant)
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A car moves along a horizontal circular road of radius ‘R’ with a tangential acceleration ‘a,”.
The coefficient of friction between the road and the tyre 1s ‘i, The maximum speed of the
car to move without skidding is
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Question Number : 87 Question Id : 1874635207 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

From a point on a smooth horizontal plane. a body is projected with a velocity 20 ms™ at an
angle of 45° to the horizontal. If the coefficient of restitution 1s 0.5, the total horizontal
distance 1t travels before comung to rest after several rebounds 1s

(Acceleration due to gravity = 10 ms™)
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Question Number : 88 Question Id : 1874635208 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A ball B of mass ‘m’ is tied to a 90 cm thread of negligible mass and 1s pivoted from a rigid
point “O°. The ball B is pulled aside through 60° and then released. When the ball B reaches
its lowest position. 1t collides elastically with another ball P of mass *2m’ at rest on a rough
horizontal table of coefficient of kinetic friction 0. 1. as shown in the figure. After collision.
the ball P travels a distance *d ™ before it comes to rest and the ball B reaches a maximum

height ‘", Then. the value of [%) 1s

(Acceleration due fo gravity = 10 ms™)
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Question Number : 89 Question Id : 1874635209 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A 15 gram ball is shot from a spring gun whose spring has a force constant of 600 N ™.
The spring 1s compressed by 5 cm. The greatest possible horizontal range of the ball for
this compression 1s

(Acceleration due to gravity = 10 ms™)

RORTOSIW 600 Nm de @yoh SO5 o8 Ryof ®drs Ssod 15 (G508 fio 208
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Two particles P and Q are moving in a circular path of radius 5 cm. At t=0. they are at the

n
ends of a diameter and have equal angular velocity of—j' rad s71. The angular acceleration of

Q 1s rwice that of P. If both the particles move in clockwise direction they meet after
3 s. If P moves i clockwise direction and Q moves in anti-clockwise direction then they
meet after
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Question Number : 91 Question Id : 1874635211 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Consider a pair of identical pendulums. which oscillate with equal amplitude independently
such that when one pendulum is at its extreme position making an angle of 4° to the nght
with the vertical. the other pendulum makes an angle of 2° to the lett of the vertical. The

phase difference between the pendulums 1s
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Question Number : 92 Question Id : 1874635212 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The time period of moon around the earth is 28 days. If the mass of the earth 1s doubled.
without any change in the distance of the moon from the earth. new time period of revolution
of the moon is

-
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Single Line Question Option : No Option Orientation : Vertical .
collegedunia:

India’s largest Student Review Platform




A composite steel rod PQR 1s made of rwo rods PQ and QR as shown m figure. The lengths
of two rods PQ and QR are 20 cm and 10 cm respectively. The area of cross-section of the
longer rod 1s 210~ m? and that of the shorter rod is 116~ m°, If the composite rod is
stretched with a force of 50+ 10° N, the total elongation produced 1s

(Young's modulus of steel = 20 x 1010 Nm=)

28 Socing ¢iy, £§ PQReXSS PQ Hocin QR w 3Tk §§os’ Hhod® dorbibtsm
SUrHTobwESH. ok §Gws PQ 0diy QR © FdHes ISHEm 20 em Soan
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Match the following List-I with List-II

List-1 List-T1
A) Equation of continuity I)  Less than cntical velocity
B) Bemoullie's theorem II) Formation of eddies and vortices
C) Turbulent flow I) Law of conservation of mass
D) Stream line flow IV) Law of conservation of energy

e - 1 o - 11
A) dossy SHossmo D SobiSko SoB 88,5
B) Tim® dgodo ) eSfow. e IGEso
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IV) &8 Q8geg dcihdo

The correct answer 1s
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A bady cools from 60 °C to 40 °C in the first 7 minutes and to 28 °C in the next
7 minufes. The temperature of the smroundings is

&8 3309 7 Qaarod’ 60 °C od 40 °C B Soadodiud. 86358 7 adsdros” 28 °C
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Question Number : 96 Question Id : 1874635216 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two identical rods are jomed as shown 1n the figure. The temperatures shown at the ends

are in steady state. If there 1s no heat loss through lateral surfaces of the rods. then the
temperature at the junction is
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Question Number : 97 Question Id : 1874635217 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two moles of a monatomic gas at 27 °C and three moles of a diatomuc gas at the same

temperature expand adiabatically. If the work done by each gas during the expansion is
4157 J. the ratio of the final temperatures of the monatomic gas to that of the diatomuc gas 1s

(Universal gas constant = 8.314 Jmol'K™1)
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Carbon monoxide ( . i *“5') 1s carried around a closed cyclic process abe, i which ‘be” 1s

an 1sothermal process as shown in figure. The gas absorbs 6000 J of heat as its temperamre
1s increased from 200 K to 800 K m going from *a’ to ‘b’. The quantity of heat ejected by
the gas during the process ‘ca’ is
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Mass of each molecule of gas *A’ containing ‘N’ molecules 1s ‘m” and mass of each molecule
of gas ‘B’ contaming ‘2N" molecules 1s “2m’. These two gases are contamned 1 a vessel
which is mainfained at a temperature T. The mean square velocity of the molecules of gas B
is denoted by “v>"and the mean square X - component of the velocity of gas A is denoted by

"
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A string fixed at both ends is vibrating in the lowest mode for which a point of maximum

th
displacement lies at (I] of its length from one end. The frequency of vibration is

100 Hz. If this point 1s to be agamn the point of maximum displacement. then the frequency
of the next mode of vibration is
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The frequency of a note emitted by a source changes by 10% as it moves away from a

stationary observer. If it moves towards the stationary observer with the same speed. the
apparent change in the frequency 1s
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Question Number : 102 Question Id : 1874635222 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A double convex lens made up of a material of refractive index 1.6 is on a plane mirror, The
space between the lens and the mirror 1s filled with water. When a point object is placed
at 30 cm above the lens system. then its nnage coincides with the object. Then the focal

length of the lens is

SELSS oo 1.6 Mo =€ S:m“gué"’ SoirTON w8 Hodoversd BLko, o8 dddo
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Question Number : 103 Question Id : 1874635223 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In Young's double shit experiment, the distance between the slits 1s 0.5 mm and the distance
between the screen and sources 1s 50 em. If a light of wavelength 5000 A 1s used and the
total set up 1s immeersed i a hquid of refractive index 1.5, then the fringe width 1s

ol 2ol WIS PR WoSw Suds doerdo 0.5 mm Sobain BiH, 285toR Dy
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Question Number : 104 Question Id : 1874635224 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : When a body acquires negative charge. its mass decreases.

Reason (R) :

Jgo (A):
0o (R):

Options :

A body acquires negative charge when it gains electrons.

L]
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Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(A) Bo5» (R) &0 Bod» OGS 206650 (R) 638 (A) H S0ES I58m

Both (A) and (R) are correct but (R) 15 not the correct explanation of (A)
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(A) 1s correct but (R) 1s not correct

(A) 566050 522 (R) $0@86 s

(A) 1s not correct but (R) is correct
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When two point charges are at some separation in air. the force between them is Fy. If the
space between them is filled with a dielectnic of dielectric constant 4. then the force becomes
F,. If half of the distance between them 1s filled with the same dielectric. then the force
becomes F5. Then the ratio of F. F; and F5 15
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2
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. . . . Ve 5
Electric potential at a point (x. 0. 0) 1s given by V= [1000 + 1500 & 500:] volt. Then the
X X X

infensity of electric field at x= Im (in Vo) is
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Two circular plates each of radius ‘r” and charge *q" form a parallel plate capacitor. Then the
force of attraction between the plates is

(Medium between the plates 1s air).
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An electrical circuit consists of A. B. C. D bulbs and a battery V as shown in the figure.
When the switch 1s closed

D80S DS DPun o.f &&35 Sochos® A.B. C.DJgd woywn SHocn o 3:‘5{‘.35
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Options :
Brightness of bulb B decreases
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Brightness of bulb D increases
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In the circmt shown. the current through 20 V cell 1s
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A current carrying conductor has 8+ 107 free electrons per meter length having drift

velocity 10~ ms™. If a magnetic field of 5 T is applied perpendicular to the conductor, then
the force per unit length of the conductor in Nm™ is

o8 JMgd PEIToh FIEo wf Dbb FEHPS% 8-'102'33353 JOFSwr SON &G
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An 1omised gas 1s subjected fo an electric field along positive X-axis and a magnetic field
along positive Z-axis simultaneously. Then

wobdSdadin Dol FinPn I8 Toud' & Xwio 63S* s Po, &5 Z-wso
83" w08 BE50M wiHBQuDS
Options :
Positive 1ons deflect towards positive Y-axis and negative 1ons towards negative
Y-axis
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All 1ons deflect towards positive Y-axis
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All 1ons deflect towards negative Y-axis

8 @oirdoes awe Y-elo &¥8 JPodo Tokd

Positive ions deflect towards netagive Y-axis and negative ions towards positive
Y-axis
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If the earth's magnetic field at the equator 1s 0.4 G then the earth's dipole moment is nearly
(Radius of the earth = 6400 km)

Frdsgty 3G o vddn,od BFo 0.4 G wond O B8y wrddo RSO
(>3 Tg>do = 6400 km)
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The current flowing in a coil of inductance 2 mH varies as i = t* e~* ampere (where *t" is
time 1in seconds). The time m which the mduced emf m the coil becomes zero 1s

R8€Sto 2 mH Ao HfHHS* H3brod g Padro 1= t2 ! woddhd (28,4
twids Foln DEDuST) ™ Srddod. wund SRHhLS* LIRS Dgve Srdgihis
e oo

Options :

145

6s

-

8s

Question Number : 114 Question Id : 1874635234 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If a direct current of ‘a” umts 1s supenmposed with an altemating current I =b sin @t. then
the effective value of resulting current 1s

‘a’ Bireedooes v 8wy (de) JEgd Pardrdhn, I=bsin®tIeud fo JI570sd kg

BTSN sgdhaidin DobodIY I s Boin $O8 Jend
Options :

=
2

=57 40?)

ld|r—-

a‘? 2
I—rms' T+b

-

L
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2+b2
a
Ims = —
3
1
2 Y5
> 2
L =[ 0742
4

Question Number : 115 Question Id : 1874635235 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The horizontal and vertical components of the eleciric field of an electromagnetic wave in
free space are respectively

E,=2smn(mt+Bz)

E,=2cos (ot + Bz)

Then the displacement current density 1s (Take ) = \/—_1 )

0EG Yo" o8 Jgdolam, o8 Sooio Buy, s BB 5b= JBrosd Sl

E, =2 cos (0t +P2)

BoRd PIEoT gd P> FoEs () = -1 T SSFRE0)
Options :

1ME

% 2
J7Eq

I

0

Question Number : 116 Question Id : 1874635236 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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The ratio of de Broglie wavelengths of molecules of Hydrogen and Helium in two
different gas jars at temperatures of 127 “C and 227 °C respectively 1s

b

127 °C Sodosn 227 °C sPido 58 36 Ib IFgos” fo @'=2 Hdcin rdcho
TOI YL SErdd JuNgdsine A8

Options :

V.
-

5
e

L

| tus

&
iy

Question Number : 117 Question Id : 1874635237 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the wavelength of a photon emitted due to transition of electron from third orbit to first

orbit in a hydrogen atom 1s A. then the wavelength of a photon emuitted due to transition of
electron from fourth orbit to second orbit will be

TIEaS HoSrandS’ 35 €8 $08 13 5% Jogs Sogiomo Sod ddde sows
PErS SSuRBY g Awowd, 45 885 S0d 23 S5 JoEs duEhmo Sl Jeosd
&R S00iBd gdw

Options :
25

9

2
128
27

I-J
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Question Number : 118 Question Id : 1874635238 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A radioactive element chsmtegrates for an mterval of time equal to its mean life time.
The fraction that has disimtegrated 1s

- rl

§ TEGErer0)S Swreoso od it 42858 S8 Fo Hp50 T Ibdo TodB,

i:}

*

Juobdo Tobhs Qﬁﬂ-u

Options :

oo

Question Number : 119 Question Id : 1874635239 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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IfA=1.B=0and C=1 i the following logic circuit. the values of X and Y are respectively

2O 35, Jocked" A=1.B=0%5000in C=1 soxd, X30din Y dwdw J6am

B Y
) D=
}jT

Options :

0.1

LD

L

0. 0

Question Number : 120 Question Id : 1874635240 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

-

-
—_—

S

th
The amplitude of the modulating wave 1s ( ] of the amplitude of the carmer wave. The

percentage of modulation 18

= _
w::iage":aéﬁuﬁ 808 S0l J0E, T8 S0 God Sbwest (i‘-];ﬁ Doy S0D
5,“&5'&35 T80

Options :
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Question Number : 121 Question Id : 1874635241 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The energy of an electron in the excited state of hydrogen atom is—1.36 < 10™°J. Then
according to Bohr's theory. the angular momenmm of this electron in Js is

- - - : T o "-'.D -
a3ed P6C°Q TFes H0dranddt Jugs ¥E -1.36 « 10 T wond &°6 NI oS0
©5do, & Jogs S'dah G I Ts o'

Options :

, 4215 10~

. 211 % 1073
1.05 « 107

316 1077

Question Number : 122 Question Id : 1874635242 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The wave number of the spectral line in the atomic spectrum of hydrogen 1s equal to

8 ) . : o
aRHm . The energy associated with that spectral line 1s (R; = Rydberg constant)

-3 3. T L ol of o =R o WV ol AT R 4 S "'l' oo o g .
TF e SUSme 5§ SLod'd SgaL B Sl dopg ERHm £ S8-S0 8 SHHL
S @lnods 7§ Jud (R =08 of Horuso)
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, 1.766 x 10~ Ry Jm

Question Number : 123 Question Id : 1874635243 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

3

The oxidation state and covalency of aluminium in I:Al( H,0) - Cl]“ ~ are respectively

»

| )
[Al(H,0),Cl]” & vergddono uligsen 8, Sodrubs SHoT

Options :

.i-
-
LY

T
tad
L]
LW

Question Number : 124 Question Id : 1874635244 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The number of lone pairs of elecirons present on the central atom and number of bond

pairs in the following species are respectively

So|ds SESrenl e fu wobl Jugde 2du Sopg, =od ady Jupy $ob RS

-
SO

XsF, [PCL SuCl,  [BeE, "
(A) (B) (C) (D)

Options :
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(A) (B) (C) (D)

12
(B

1.4 1.4 0.4

(A) (B) (C) (D)

1J
LR
o
L]
[
a0
J
]

(A) (B) (C) (D)

(A) (B) (C) (D)

Question Number : 125 Question Id : 1874635245 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which of the following group of molecules. bond angles are in the mcreasing order?

Vi ‘r' i - —

Bod 2 wodo JSHrFTudt wod Foreo HOT EReS' &otrrow?

Options :

. CH,NH; H,0

_ H,0.BeCl,. BF,

H,S.CH,. SO,
. 2

BF, NH.. SF,
4

Question Number : 126 Question Id : 1874635246 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

[ ]
gcollegedumaa
India’s largest Student Review Platform

el



Assertion (A) : In an ideal gas all the molecules travel with same velocity
Reason (R):  Ideal gas molecules neither attract nor repel each other

(s (A): eBHTENY So80 v Lo o3 I PairBSFon
5o (R): sS5HToin s IS 00 BE0oEY, VE0CEEY

The correct answer 1s
RO ST RGN
Options :
Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
1 (A) S0cdx (R) o0 Todsr S0GHHL So0aiw (R) 38 (A) 2 305338 602

Both (A) and (R) are correct and (R) 1s not the correct explanation of (A)
; (A) 5080w (R) wo Tods S0GHHD 00w (R) w38 (A) § H05S 88 s

(A) 15 correct but (R) 1s not correct

(A) 305058 2 (R) $0@BE 5260
3

(A) 15 not correct but (R) 1s correct

, (M) 50@0 5@ £ (R) S05050

Question Number : 127 Question Id : 1874635247 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

50 mL of 0.1 M Na,COj; (molar mass 106 gmol ™) taken in a litre volumetric flask is made
upto the mark by distilled water. What vohune of this solution is required to exactly neutralise
20 mL of 0.02 N oxalic acid dihydrate (molar mass 126 g mol™) solution?

nf DLt HoBsoSrmd)l T3, &8 50 mL o 0.1 M Na,CO; (3rerd (@509
106 g mol™) & 2852 Ko MGy S8 DS o LotEDSE, 20 mL o 0.02 N
8 siive BPEE (Bre8 ES5oe 126 gmol™) @Emuis From SLYssmo Boiiras
Jod SS0Nres" P9 ST [Tdeo WSIINR?

Options :
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20mL

30mL

L

40 mL

50 mL

Question Number : 128 Question Id : 1874635248 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

At constant temperature T(K) and pressure enthalpy of combustion of ethyl alcohol 1s
—x Tmol™. So. the enthalpy of combustion of ethyl alcohol at the same temperature and
constant volume in J mol™ will be

26 &S T(K). RS biso 58 286 vy s &irs Jowdy —v Jmol™ wonss' o
SPS, HO WEH0Ermo 55 aBS BuSS 558 Jogrdy Jesd T mol” o&*

Options :

| RT —=x

—RT +x)

b

1—RT

4 V+RT

Question Number : 129 Question Id : 1874635249 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following mixtures acts as a buffer solution?

Bod FSros’ A6 236 Erdwom SV [doh?
Options :

0.5L of 0.1 M CH,COOH + 0.5 L 0of 0.2 M NaHCOj,
l

- 05Lef 0.1 MCH;COOH+0.5L 0f 0.2 M NaOH
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. 0.5Lof 0.1 MCH,COOH+ 0.5L of 0.1 M HCI

4 0.5Lotf 0.2MCH;COOH + 0.5 L of 0.1 M NaOH

Question Number : 130 Question Id : 1874635250 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The decomposition of N,O, to NO, is camied out at T(K) i1 chloroform. When equilibrium
is reached 0.2 moles of N;O, and 2 « 10~ moles of NO, are present in a 2.0 L solution.

The equilibrium constant for the reaction N,04 = 2NO, is

T(K) 5§ N,O,dobdo Bod NO, & afy S5k §6rSHs’ 206, SHoahod
FobSEyss 2.0 LiooSnos® 0.2 mol N,0,. 2 107 mol NO, e 6:§3. N,0, = 2NO,

s&cigéo ;ﬁfua‘%wﬂu LV
Options
—5
2.0 = 10

L.
1o
<
X
et

E

Question Number : 131 Question Id : 1874635251 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is not representing the reducing property of hydrogen peroxide?

§obd FBS* 38 TGS DoPs §hEdn $og) Sggo Ia?

Options :

H,0, +1, + 20H” — 2" +2H,0+ 0,
l

2MnO; + 3H,0, — 2Mu0, + 30, +3H,0+ 20H"

‘

2MnOj + SH,0, +6H® — 2Mn™ +50, + 8H,0
3
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PbS + 4H,0, — PbSO, + 4H,0
4

Question Number : 132 Question Id : 1874635252 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Among L1,C0;. Na,CO;. ZnCO;. CaCO; and K,CO;. the total number of carbonates wiuch
give carbon dioxide on heating is

Li:CO_;. NHJCOS. leCO;. CHCO;. K}CO; od’ 33&3:&52@& 5”{:5 é_ @B&ﬁ) '3?.‘« 5’5‘\3&
Dodo :-T::uspg
Options :

3
1.

L3
2

Question Number : 133 Question Id : 1874635253 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In vapour phase. aluminium chlonde exists as a duner with the structure given below. The
correct relationship between the bond angles 8. 8; and 6; indicated in the structure 18

FRENESRE", vorghIdoe §05 Srumsom &od Bob JoYd) 5OhH Sodwnod.

&U"La‘au@* GrRoOLN oSS o 91. 93 33 ) :JJ'L'SS cﬁdiﬁiﬁ 000

Cl Cl Cl
\\ 6 J//
Al 6, Al ) 9,

Cl / \ Cl Cl

Options :

0 <6,<6

4 93 o 81 < 6!
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Question Number : 134 Question Id : 1874635254 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Graphite has layered structure m which each layer 1s made of planar hexagonal nngs of
carbon atoms and layers are hield by van der Waals forces. The C-C bond length with in the
layer and distance between rwo adjacent layers are respectively

(M28, 6o ool SO0 REFIS" O] Wirawgw Ido W0 Sodre
FJU‘;JEBUET @08 oo & o085 :.r“v:';}‘} &Eécia'a e dgodrod 20 C-Caud Qg_ﬁu
Sobcin Tods B& B8, Do S0y Srored Sk

Options :

141.5 pm. 340 pm
l

340 pm. 141.5 pm

L-J

3 143.5 pm. 154 pm

141.5 pm. 138.3 pm

Question Number : 135 Question Id : 1874635255 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The reagent used in the detemunation of COD of polluted water 1s

$ootad S COD & JTBothirss S5@RrHodH SIS

Options :

50% H,S0,4/ KyCrh0;
1

. HCl/ HECEO.J.

3 I‘I{a' OH_
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4 NHJS:O3 / H+

Question Number : 136 Question Id : 1874635256 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

e

In the set of species HS™. BF 3. RyN. N O, . AlCL;. H,0. C,H;0™. the number of electrophiles
and nucleophiles are respectively

@

HS™. BF;. RyN. NO; . AICL;, H,0. C,H;0™ &3 ardoo S8, Jog pdes, rgddrpé

O RoPgoy HLRT

Options :

| 3.4

4.3

-

I
]

LN
(B ]

Question Number : 137 Question Id : 1874635257 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the formation of Y and Z as major products. in the following reactions. the
intermediates involved respectively are

' 5 i

¢ NG N S W =%, m— - s MR Aoy A \ T T
Bod Sgud” Y. Z BTN SE T JOBLEYE, 2863 ..uc,gi;*u., SR
HB:
y Z
CH; —C = CHR2etmelie ,y
i HB:
y: ¥
(CﬁHSCO]:O:

Options :
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& .

= .
CH;-CH-CH;. CH;-CH-CH,
|
Br

L

| ‘ )
CH;—-CH-CH,-Br. CH;—CH,-CH,

| . ,
CH; -CH—CH,-Br. CH;-CH-CH;

Question Number : 138 Question Id : 1874635258 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

of 34 - s 1= oy e 2
The homologue of ethyne on addition of water in the presence of Hg™ | H at 333 K gives

an unstable compound X. This on isomerisation (tautomerisation) gives Y. The functional
groupm Y is

Qn
g 210
A
A
C
=5
(5]
.
C.
1
8
=3
i
a
,m
[
I
e
[
25
H\
frn,
C
G
L
¥
s
i
ExA
5.4
o
i)
Gy
O
C
w‘.
C
£l
C
£
4
g
A
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|
~-C-H

|
-C—-0OH

—-OH

Question Number : 139 Question Id : 1874635259 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

e, o . : ; ; : - ;
The percentages of Ni* and Ni°~ present in nickel oxide having the formula Nig g0 are
respectively

: — e ocse AR Agt R s
Nig g0 ooy do U868 ggiad’a NIT |, Nr sow 380N

Options :
: 959.4.1
4.1. 959

98.0. 2.0

2.0.98.0

Question Number : 140 Question Id : 1874635260 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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At T(K). the vapour pressure of a pure solvent X is 0.8 atmospheres. What 1s the mole
fraction of the non-volatile solute Y mn the solition. which drops the vapour pressure of
X 10 0.6 amm?

TK) 58 =8 ofEss X ordywddo 0.8 sirmobhd. Yei sadio gded) X e

At - [ J = :’ :
5688 DOYWSvEs TR =l wddo 0.6 VirRycgs 808, @ined” Y 36 wrilo
DO S?

Options :

l

L

0.5

Question Number : 141 Question Id : 1874635261 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

2.5 g of phenol (molar mass 94 g mol ™) dissolved in 200 g of benzene shows a depression
i1 freezing point equal to 0.512 K. What is the percentage of association of phenol if it
forms a dimer i solution?

(K;of benzene =5.12 K kg mol ™)

25 g0 056 & @rod Bigue 9 ¢ mol ) 200 g BolS® $ohw 0.512 K Hole5S88

TR QIR bl b ([@Tieud” Bumosod 607, D6 FESGy TH0 Jod?

BoS K, dwas =512 K kg mol™)

l-3
=
o
N

Question Number : 142 Question Id : 1874635262 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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If the resistance of the conductivity cell filled with 0.02 M KCl solution 1s 516 €. the
molar conductivity of the same solution in Sm® mol™ is (cell constant = 129 m™?)

0.02 M KCl mimod® Jobd ks orsd: obo A8¢o 516 Q soxd, o3 @dwo
drord Dagd TEESE0 Sm® mol! o&* (Gotn “gaméu =129 m™)

Options :

125~ 107"

2.50 x 1072

L

3 1.25 < 10_3

T e
4 250 < 10

Question Number : 143 Question Id : 1874635263 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the time required for the completion of 75% of a first order reaction is 30 munutes. the
time required for the completion of 93.75% of the reaction in minutes is

a8 SFH ESrof $85 75% T8 PIGE S8swo 30 Aodren woudS', B So

93.75% T8 =58 LPFwo ANTUS

Options :
; 45

30

-a

Question Number : 144 Question Id : 1874635264 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the coagulanon of_Fezoj; -aH,0 sol. the coagulating power of the anions follow the
order

Fe,0;3-xH,0 &6 308506 83cird 088 ddy Foo 5ol Jdom sobood
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Options :
Phosphate > Chlonde > Sulphate

FE >5§38 > wﬁ;}&':a

Chloride > Phosphate > Sulphate

- > FndS > S
§08 :,"rfaJ...: S _‘5&;

LJ

Sulphate > Phosphate > Chloride

5By > hHS >§38

Phosphate > Sulphate = Chlornde

Fod > 58\ > 505
B

Question Number : 145 Question Id : 1874635265 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

The number of carbonate. sulphide ores respectively from the ores given below is:

Calamine. Copper glance. Fool’s gold. Sphalerite. Siderite. Chalcopyrites

Bod Snéplmod' SIS, 36\8 Sndpdary Sop
SORS, 596 TR, F) FE. DS, VIBE, TS PVES

Options :

2
2.4

LJ
LI
-
L

»
12

Question Number : 146 Question Id : 1874635266 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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HCl+0, —S2 X +Y

X and Y in the above reactions are

S5e0S ¥ . &
BSOS’ X.y &

-

P

Options :

CLO.H,0

H,0.Cl,

L

H,0,. Cl0,
3

Cly. H,0,

Question Number : 147 Question Id : 1874635267 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

If Xe and F; are in 1:20 molar ratio in the reaction

SR o _ 3H0

ST b () Y +6HF

Xe, +H

The shapesof X and Y are respectively

& B0 S55S" Xe Ho0ci» F; 1:20 3rerd Diyde* w08

- 573K
&) +Fa) 5070 bar o)

X Yo ﬂ.ssi‘jéom SO0

0 yvi6Hr

Options :

Distorted Octahedral. Pyranudal

IS0 Budd wghdol, LHEWEs

Pyranudal. Distorted Octahedral

c

0SS E, Ddrdcoo JodS esa;.}:f.n:uﬁ)d‘i:.

Lik

—
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Square Pyranudal. Pyranudal

o

- -d ‘_[. ke - 3 I.I.' L —_— _"
S0 a3, Lldad
3

Pyranmidal. Square Planar

DOWES, SHrde SE36H0
4

Question Number : 148 Question Id : 1874635268 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The number of P-O-P bonds present in the oxoacids of phosphorous given below are
respectively

Bod adedS .fr}.':ﬁcifa B sdrod® P-O-P zogro Sopy SEOIM

HP,0,  (HPO;);  HpP,0;  HP,0;
I i il %

p
[T
-
—

Question Number : 149 Question Id : 1874635269 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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The number of moles of dichromate (C r__,:o:’;‘) and permanganate (MnO]) separately

required to oexidise | mole of ferrous iron each in acidic medium are respectively

T — = o B o= L - # # = p— - - 2'— . a
1 308 BB 0655 DBIE™ s§E0osirat elsdhdy B8R (Cnoj ), Soerds

(MnO;) o wrde E&umgw O

Options :
11
( 6 3
1 1
.. 5. 6
1 1
; 4 5§
1
o8 2

Question Number : 150 Question Id : 1874635270 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Wilkinson catalyst used in the hydrogenation of alkenes is
s 5 TG eUSinoS' SHGHNOD YIRS B3\
Options :

NEI; [Ag(5103)ﬂ

[(Ph;P);RhCl]

, [Co(NH;)6]Cls

[Ni(CO)4]

Question Number : 151 Question Id : 1874635271 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Novolac. a linear polymer 1s formed from which one of the following?

¢
£
G
an
6
¥

cﬂ.
6

% FO%E Bub TBS* T Koob G2

L3

Question Number : 152 Question Id : 1874635272 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The number of -CH,OH groups and -CHOH groups present in the open chain structures of
D-(+)- glucose (A) and D-(—)-fructose (B) are respectively

o~

D-(+)- fix&'d (A). D-()§8E (B) v d5@ppe dvymros® fio —CH,0H. -CHOH

SHrSte Sopgur SBST

Options :
A B
, 0.5 1. 4
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e
[ew

- 203 1.4
A B

21,58 2.3
A B

. 3.9 4.0

Question Number : 153 Question Id : 1874635273 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following artificial sweetners does not have -CONH-— group?

Bod §EH éLsirud” -CONH- Sdordde 838 6?7
Options :
Aspartame

B — A 4
BRI TN

‘l‘l

Sucralose

o . e W
twtﬁt‘.'} E-.:

L

Question Number : 154 Question Id : 1874635274 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which of the following statements are correct with respect to Sy2 reactions?

I[) They follow second order kinetics

I[) Optically active alkyl halides give racemic products

I} 1In the case of optically active alkyl halides. the product formed has inverted
configuration compared to the reactant

IV) These reactions proceed through mtermediates
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Methanal on reaction with Grignard reagent A followed by hydrolysis in the presence of

acid gives Q— CH,OH Ais
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O— CH,-MzCl
O— CH,~CH,~-MgCl
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3
O- CH(CH;)-MgCl
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Identify the set from the following. that produces anisole

o e r

Bod 29eds UGS, 2 JDd IFSH IGDHE RBoHIBw?

=i

Options :

CH.CHO. CH;Mz2Cl
!

C,H.OH.NaOH. CH,]

]

C,H,OH. NaOH. CO,

CH,COCH,, LiAlH,
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Match the following
Bod BY 285&HS%0s
List-1
sde -1

(Name Reaction)

(555 D)

A) Remer-Tiemann
T8 - GBS

B) Hoffmann bromanude
SO Fu3s

C) Rosenmund
&'asob
D) Sandmeyer

F08 Jos

The correct answer 1s
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(Main organic product)
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CHCl,
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293K
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sg AlCL

Formation of R from P and Q 15 an example of

P. Qo {008 R adh\dlo w38 G8 sirde

Options :
Canmzaro reaction

suEs r:‘udg

Simple aldol condensation

20¢ m:{;@" TONONNO
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Mixed aldol condensation
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Remmer-Tiemann reaction
Td - BS B
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Arrange the following in the order of their acidic strength
Bod T80, T8 sl wwo B0 ey

CH;OH (CH;,CHOH H,0  (CH;)COH
I I i Y

Options :

1 V>II>1>1I>1V

H>Va2O=1>21V

L2

IVI=>1>T>V

I>IT>IV=>V=>=IIl

CH:OH
\.-
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Thazotization Cu,Cl, > (1) NaOH
—=X—Fer Y 63K 300 atm
(i) H™

Ambhine s Z

Z m the above sequence of reactions is

whe OCDS'OE00 Cu.Cl,  ~- (1) NaOH
ARES X—1er Y 6K 300am 2

() H™

COO ™ Na~
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